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A brief introduction to the presentation

m Each slide asks you to make a decision. When you select an option, it will take you to a
linked slide that will provide you with the next decision. You’re given a string of decisions,
where one decision affects the options you’ll have at the next stage. {You may need to put
the presentation in “play” mode for these links to be active.}

m I've simplified the decision-making process to present you with a subset of options that
covers the kind of stress found in many natural languages. On a given slide, options are
provided in order of prevalence in natlangs, from most to least common.

m There are, of course, other options, many of which are based on the options presented here
(e.g. tweaking how secondary stress is assigned or assigning stress differently for two-
syllable words than for words with three or more syllables).

m The final slide for each set of options is a sample list of 15 words with stress assigned
according to the features you’ve selected. Your language may have different syllable
structures or sounds, and that’s okay. Each list simply exemplifies how a particular stress
pattern works.




A focus on word-level stress

m Some languages have clausal or phrasal stress, rather than assigning stress to particular
syllables within words. For instance, in French, stress is assigned to the final syllable of a
phrasal unit within a sentence (or to the final syllable of a word in isolation), which means a
word may not receive stress in one sentence but that same word could bear the stress in
another. If you are interested in such a system, this presentation can still walk you through
how stress assignment works in different scenarios but will not directly reflect how stress will

work in your language.

m This presentation focuses on siress, rather than tone. Stress can play a role in tonogenesis,
so even if you want to explore tone, you may find the information here helpful.




Notation used

m A period separates syllables: (be.li).

m Parentheses indicate the “stress window” to highlight which syllables are part of a foot that
receives stress: [(be.li).kal.

m Primary stress is indicated by an uptick before the stressed syllable: in (‘be.li), the syllable
be] receives primary stress, but in (be. li), the syllable [li] is stressed.

m Secondary stress is indicated by a downtick before the stressed syllable: in (‘be.li.)( la.mo),
be] receives primary stress and [la] receives secondary stress.

m Brackets indicate word boundaries, where [ represents the beginning of a word and | the
end.

m The Greek letter sigma indicates a syllable: o.
m  When indicating stress in a generic pattern, the underlined syllable receives stress: o.
m For weight-sensitive systems, <H> refers to a heavy syllable and <L> to a light one.




Example words used

m I.SO ]
m kaula: ]
B pu.lim 0
m tam.ba: N
m em.bek M

a.vii.la
bon.du.le:
sa:va:lon
ir.gu.des
or.wek.tu

bir.seisu.li
am.pe.ro:.gu:
a.ten.do.run
be.go:.naim.bas.ti
Kiv.la.mu:.ro:.ges

Throughout the presentation, these 15 words are used to demonstrate the selected stress patterns. In the weight-
sensitive systems, | use long vowels as one of the potentially heavy features for syllables. Diphthongs may also
participate in these systems, where [vii] and [voi] are both heavy syllables. If your language does not have short/long-
vowel distinctions, you can substitute the long vowels for diphthongs in these examples (e.g. [a.vai.la] rather than

[a.vii.la]).

Some languages distinguish “super heavy” syllables that attract the stress, where a syllable like [naim] is
considered super heavy because it has both a long vowel and a coda. In such systems, a super heavy syllable
outranks a heavy syllable. For example, a right-oriented weight-sensitive system could stress the rightmost heavy
syllable in a stress window, resulting in [be.go:.(nam.'bas.)ti], but a super heavy syllable could pull that stress,

resulting in [be.go:.('narm.bas.)ti].



STRESS TYPE
DECISION

Question regarding basic type of s




First decision: Do you want fixed stress, weight-sensitive stress,
or another option?

: Each word’s stress will be predictable and based on the syllable’s location in
the word. Features like codas and vowel length will not affect the location of the stress.

: Where the stress occurs in a word will be predictable by
considering both intrinsic syllable features (e.g. closed syllable) and syllable location.

: Some languages have lexical stress, in which case stress is assigned on a
word-by-word basis, and you need to mark stressed syllables as you create them (e.g. with
a diacritic). Lexical stress can be categorized as a weight-sensitive system, where weight is
determined by non-intrinsic factors (i.e. unpredictable factors) rather than by codas, vowel
length, or vowel quality.



FIXED STRESS
DECISIONS

Options for selecting the loc sed syllables




Fixed stress: Which direction/orientation do you want?

O (o 0)] : Stress is assigned beginning with the final syllables of the word in a foot
that is either trochaic or iambic.

N [(0 0) : Stress is assigned beginning with the first syllables of the word in a foot
that is either trochaic or iambic.

- (0 0) o] : Primary stress falls on the antepenultimate syllable in a trochaic foot.

M |0 (0 0) : The third syllable receives primary stress in an iambic foot.

Square brackets indicate word boundaries. The parentheses indicate a footed “stress window”
that attracts stress, where any un-footed syllables may not receive stress.




Left-edged fixed stress: Which of the following syllables do you
want to stress?

N [(c 0) : The first syllable of the word receives primary stress in a trochaic foot.

0 (0 o) : The second syllable of the word receives primary stress in an
ilambic foot.




Right-edged fixed stress: Which of the following syllables do you
want to stress?

N (o 0)] : The penultimate syllable receives primary stress in a trochaic foot.
M (o 0)] : The final syllable receives primary stress in an iambic foot.




Initial stress, left-edged trochee [(o 0): Do you want secondary
stress?

O : Any word with four or more syllables receives secondary stress, assigned in a trochaic
rhythm.

N : No matter the length of the word, only primary stress is assigned.




Penultimate stress, right-edged trochee (o o)]: Do you want
secondary stress?

O : Any word with four or more syllables receives secondary stress, assigned in a trochaic
rhythm.

N : No matter the length of the word, only primary stress is assigned.




Antepenultimate stress, right-oriented trochee (o o) o]: Do you
want secondary stress?

O : Any word with five or more syllables receives secondary stress, assigned in a trochaic
rhythm.

N : No matter the length of the word, only primary stress is assigned.




Second-syllable stress, left-edged iamb [(c o): Do you want
secondary stress?

O : Any word with four or more syllables receives secondary stress, assigned in an iambic
rhythm.

N : No matter the length of the word, only primary stress is assigned.




Third-syllable stress, left-oriented iamb [c (o ¢0): Do you want
secondary stress?

O : Any word with five or more syllables receives secondary stress, assigned in an iambic
rhythm.

N : No matter the length of the word, only primary stress is assigned.




Ultimate stress, right-edged iamb (o o)]: Do you want secondary
stress?

O : Any word with four or more syllables receives secondary stress, assigned in an iambic
rhythm.

N : No matter the length of the word, only primary stress is assigned.




FIXED STRESS
RESULTS

Demonstra of fixed s iIng the 15 example words




Initial stress only, left-edged trochee: [(o 0) (o 0)

m (i.s0) m (a.vii)la m (bi.sew)su.li

m (kawla) m (bon.du.)le m (am.pe.)ro.gu:

m (pu.liim) m (‘'samvai)lon m (‘a.ten.)do.run

m (tam.bar) m (ir.gu.)des m (be.goi)naim.bas.ti
m (em.bek) m (onwek.)tu m (kiv.la.)mu:..ro:.ges




Initial stress, left-edged trochaic rhythm: [(c o) (o 0)

m (i.s0) m (a.vii)la m (bi.sew)(su.li)

m (kawla) m (bon.du.)le m (‘am.pe.)(ro:.gu:)

m (pu.lim) m (sawvau)lon m (a.ten.)(do.run)

m (tam.ba) m (irgu.)des m (be.go:)(na:m.bas.)ti
m (em.bek) m (onwek.)tu m (kiv.la.)( mu:.roi)ges



Second syllable stress only, left-edged iamb: [(o o)(o 0)

m (i.'so0) m (a.vi)la m (bi. sew)su.li

m (kawla) m (bon.du.)le m (am.pe.)ro.gu:

m (pu.lizm) m (sax.va.)lon m (a.ten.)do.run

m (tam.ba:) m (ir.gu.)des m (be.go:)naim.bas.ti
m (em.bek) m (on.'wek.)tu m (kiv.la.)mu:.ro:.ges



Second syllable stress, left-edged iambic rhythm: [(o o)(o 0)

m (i.'so0) m (a.vi)la m (bi. sewn)(su. li)

m (kau.la) m (bon.du.)le m (am.pe.)(ro:. gu:)

m (pu.lizm) m (sa:va.)lon m (a.ten.)(do.run)

m (tam.ba) m (ir.gu.)des m (be.go:)(naim. bas.)ti
m (em.bek) m (on.'wek.)tu m (kiv.la.)(mu:. ro:)ges



Third syllable stress only, left-oriented iamb: [0 (o 0)(0 0)

B i.SO m a.(vi.la) m bi.(sew su.)li

m kaula: m bon.(du.le:) m am.(pe.ro:.)gu:

B pu.lim m sai(va.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.(go:. naim.)bas.ti
m em.bek m o.(wek.tu) m Kkiv.(la. mu:.)ro:ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, with the final
syllable receiving stress, as in [i.'so], to create an iambic foot.




Third syllable stress, left-oriented iambic rhythm:
[0 (0 0)(0 o)

B i.SO m a.(vi.la) m bi.(sew su.)li

m kaula: m bon.(du.le:) m am.(pe.ro:.)gu:

B pu.lim m sai(va.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.(go:. naim.)(bas. i)
m em.bek m o.(wek.tu) m  kiv.(la. mu:.)(ro:. ges)

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, with the final
syllable receiving stress, as in [i.'so], to create an iambic foot.




Antepenultimate stress only, right-oriented trochee:
(o 0)(c o) o]

B i.SO m (a.vii)la m bi.(se.su.)li

m kaula: m (bon.du.)le: m am.(pe.ro:.)gu:

B pu.lim m (sa.vau)lon m a.(ten.do.)run

m tam.ba: m (ir.gu.)des m be.go:.(naim.bas.)ii
m em.bek m (onwek.)tu m kiv.la.(mu:ro:)ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, with the initial
syllable receiving stress, as in ['i.s0], to create a trochaic foot.




Antepenultimate stress, right-oriented trochaic rhythm:
(g 0)(c 0) d]

m i.SO m (a.vii)la m bi.(se.su.)li

m kaula: m (bon.du.)le: m am.(pe.ro:.)gu:

B pu.lim m (sa.vau)lon m a.(ten.do.)run

m tam.ba: m (ir.gu.)des m (be.goi)(naim.bas.)ti
m em.bek m (onwek.)tu m (kiv.la.)(mu:.roi)ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, with the initial
syllable receiving stress, as in ['i.s0], to create a trochaic foot.



Penultimate stress only,

‘em.bek) .

right-edged trochee: (o 0)(o 0)]

a.(vi.la)
bon.('du.le:)
sa:.('va:lon)
ir.(gu.des)
o:.('wek.tu)

bir.se:.('su.li)
am.pe.(ro:.guz)
a.ten.(do.run)
be.go:.na:m.(bas.ti)
Kiv.la.mu:.('ro:.ges)



Penultimate stress, right-edged trochaic rhythm: (o o)(c 0)]

a.(vi.la)
bon.('du.le:)
sa:.('va:lon)
ir.(gu.des)
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o:.('wek.tu)

( biz.se:.)('su.li)
(am.pe.)(‘ro.gu:)
(a.ten.)('do.run)

be.( go:.naim.)('bas.ti)
Kiv.( la.mu:.)(ro:.ges)



Ultimate stress only, right-edged iamb: (o o)(oc 0)]

m (i.'so0) m a.(vi.la) m Dbi.se:(su. i)

m (kai'la) m bon.(du.le:) B am.pe.(ro:. gu:)

m (pu.lizm) m sa.(va:slon) m a.ten.(do.run)

m (tam.ba) m ir.(gu.des) m be.goi.naim.(bas. i)
m (em.bek) m o.(wek.tu) m kiv.la.mu:.(ro:. ges)



Ultimate stress, right-edged iambic rhythm: (o 0)(o 0)]

a.(vii.'1a)
bon.(du. le:)
sa:x.(va:. lon)

(biz. se:)(su.'li)
(am. pe.)(ro:. 'gu:)
(a. ten.)(do.run)

ir.(gu. des) be.(go:. na:m.)(bas. ti)

HE B E B =B
A~ N A~ A/~~~
© o
-
3
~
A B E ©E B
HE B E E &

o:.(wek. tu) Kiv.(la. mu:.)(ro:. ges)



WEIGHT-SENSITIVE
STRESS DECISIONS

Options for defining heavy syllables and choosing the loc
windows




Weight-Sensitive Stress: Which of the following intrinsic features
do you want to “attract stress”?

. For this feature to be relevant, your language needs distinguish long and short
vowels (where the long/short distinction affects the meaning of words) or have diphthongs
that are categorized as “long” vowels. Syllables with long vowels are heavy.

. Possibilities for features other than vowel length and coda consonants are
diverse, such as assigning weight to a set of vowel qualities (e.g. syllables with reduced or
lax vowels are light) or to the voicing of an onset consonant (e.g. a voiced onset begins a
heavy syllable).

. In some languages, a syllable is considered heavy if
it has a long vowel and/or a coda consonant.

. If your language allows codas (but they are not obligatory) and does
not distinguish between long and short vowels, you might consider having a closed syllable
as a heavy one.



Weight-sensitive stress based on long vowels: Which direction/
orientation do you want?

O (o 0)] : Stress assignment begins with the final syllables of the word.

0 (0 0) : Stress assignment begins with the initial syllables of the word.

O (o0 0) o] : Stress assignment begins with the antepenultimate syllable of the
word.

N 0 (0 0) : Stress assignment begins with the second syllable of the word.

Square brackets indicate word boundaries. The parentheses indicate a footed “stress window”
that attracts stress, where any un-footed syllables may not receive stress.



Weight-sensitive stress based on codas: Which direction/
orientation do you want?

O (o 0)] : Stress assignment begins with the final syllables of the word.

0 (0 0) : Stress assignment begins with the initial syllables of the word.

O (o0 0) o] : Stress assignment begins with the antepenultimate syllable of the
word.

N 0 (0 0) : Stress assignment begins with the second syllable of the word.

Square brackets indicate word boundaries. The parentheses indicate a footed “stress window”
that attracts stress, where any un-footed syllables may not receive stress.



Weight-sensitive stress based on long vowels and codas: Which
direction/orientation do you want?

O (o 0)] : Stress assignment begins with the final syllables of the word.

0 (0 0) : Stress assignment begins with the initial syllables of the word.

O (o0 0) o] : Stress assignment begins with the antepenultimate syllable of the
word.

N 0 (0 0) : Stress assignment begins with the second syllable of the word.

Square brackets indicate word boundaries. The parentheses indicate a footed “stress window”
that attracts stress, where any un-footed syllables may not receive stress.



Weight-sensitive stress based on other features: Which direction/
orientation do you want?

O (o 0)] : Stress assignment begins with the final syllables of the word.

0 (0 0) : Stress assignment begins with the initial syllables of the word.

O (o0 0) o] : Stress assignment begins with the antepenultimate syllable of the
word.

N 0 (0 0) : Stress assignment begins with the second syllable of the word.

Square brackets indicate word boundaries. The parentheses indicate a footed “stress window”
that attracts stress, where any un-footed syllables may not receive stress.



Weight-sensitive, left-edged stress based on long vowels [(o 0):
Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, left-oriented stress based on long vowels
lo (0 0): Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, right-oriented stress based on long vowels
(0 0) o]: Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, right-edged stress based on long vowels
(o 0)]: Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, left-edged stress based on codas [(o 0): Do
you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, left-oriented stress based on codas [0 (0 0): Do
you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, right-oriented stress based on codas (o o) o]:
Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, right-edged stress based on codas (o 0)]: Do
you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, left-edged stress based on long vowels and
codas [(o 0): Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, left-oriented stress based on long vowels and
codas [0 (o 0): Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, right-oriented stress based on long vowels and
codas (o o) o]: Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, right-edged stress based on long vowels and
codas (o 0)]: Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, left-edged stress based on other features
[(0 0): Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, left-oriented stress based on other features
[o (0 0): Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,

radiating outward from the syllable with primary stress.

: No matter the length of the word, only primary stress is assigned.




Weight-sensitive, right-oriented stress based on other features
(0 0) o]: Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




Weight-sensitive, right-edged stress based on other features
(o 0)]: Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




WEIGHT-SENSITIVE
STRESS RESULTS

words




Weight-sensitive, left-edged stress with heavy long vowels,
primary stressonly: [(HL) - [(LH) - [(HH) - [(LL)

m (i.s0) m (a.vi)la m (bi.sew)su.li

m (kawla) m (bon.du.)le m (am.pe.)ro.gu:

m (pu.lizm) m (‘'samvai)lon m (‘a.ten.)do.run

m (tam.ba) m (ir.gu.)des m (be.go:)naim.bas.ti
m (em.bek) m (orwek.)tu m (kiv.la.)mu:ro:.ges

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.




Weight-sensitive, left-edged stress with heavy long vowels,
rhythmic: [(HL) - [(LH) - [(HH) - [(LL)

m (i.s0) m (a.vi.)la m (bi.se:rn)(su.li)

m (kawla) m (bon.du.)le m (‘am.pe.)(ro:.gu:)

m (pu.lizm) m (sa.vau)lon m (a.ten.)(do.run)

m (tam.ba) m (ir.gu.)des m (be.go:)(naim. bas.)ti
m (em.bek) m (onwek.)tu m (kiv.la.)( mu:.roi)ges

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [(be.'go:.)(narm.bas.)ti].




Weight-sensitive, left-oriented stress with heavy long vowels,
primary stressonly: [c(HL) - [o(LH)-[co(HH)-[o(LL)

B i.SO m a.(vi.la) m bi.(se.su.)li

m kaula: m bon.(du.le:) m am.(pe.ro:.)gu:

B pu.lim m sa:.(va.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.('gor.naim.)bas.ti
m em.bek m 0.(wek.tu) m Kkiv.(la. mu:.)ro:ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.




Weight-sensitive, left-oriented stress with heavy long vowels,
rhythmic:[o(HL) - [o(LH)-[c(HH)-[o (L L)

B i.SO m a.(vi.la) m bi.(se.su.)li

m kaula: m bon.(du.le:) m am.(pe.ro:.)gu:

B pu.lim m sa:.(va.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.('gor.naim.)(bas.ti)
m em.bek m o.(wek.tu) m  kiv.(la. mu:.)(ro:. ges)

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [kiv.(la.'muz.)(;ro:.ges)].




Weight-sensitive, right-oriented stress with heavy long vowels,
primary stressonly: (HL)o] - (LH)o]-(HH) o] - (LL) o]

B i.SO m (a.vi)la m bi.(se.su.)li

m kaula: m (bon.du.)le: m am.(pe.ro:.)gu:

B pu.lim m (sa:va.)lon m a.(ten.do.)run

m tam.ba: m (ir.gu.)des m be.go:.(naim.bas.)ii
m em.bek m (onwek.)tu m Kkiv.la.(mu:.'ro:)ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.



Weight-sensitive, right-oriented stress with heavy long vowels,
rhythmic: (HL)o]:-(LH)o]l-(HH)o]-(LL) o]

B i.SO m (a.vi)la m bi.(se.su.)li

m kaula: m (bon.du.)le: m am.(pe.ro:.)gu:

B pu.lim m (sa:va.)lon m a.(ten.do.)run

m tam.ba: m (ir.gu.)des m (be.goi)(naim.bas.)ti
m em.bek m (onwek.)tu m (kiv.la.)(mu:'ro:)ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [(be.,go:.)('narm.bas.)ti].




Weight-sensitive, right-edged stress with heavy long vowels,
primary stressonly: (HL)] - (LH)]- (HH)] - (LL)]

m (i.s0) m a.(vi.la) m bi.se:(su.li)

m (kai'la) m bon.(du.le:) B am.pe.(ro:. gu:)

m (pu.lizm) m sa:.(va.lon) m a.ten.(do.run)

m (tam.ba) m ir.(gu.des) m be.goi.naim.(bas.ti)
m (em.bek) m O.(wek.tu) m  Kivla.mu:.(ro:.ges)

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.




Weight-sensitive, right-edged stress with heavy long vowels,
rhythmic: (HL)] - (LH)] - (HH)] - (L L)]

m (i.s0) m a.(vi.la) m (bi.sen)(su.li)

m (kai'la) m bon.(du.le:) m (am.pe.)(ro:. gu:)

m (pu.lizm) m sa:.(va.lon) m (a.ten.)(do.run)

m (tam.ba) m ir.(gu.des) m be.(gor.naim.)(bas.ti)
m (em.bek) m o.(wek.tu) m Kiv.(la.mu:.)(ro:.ges)

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [biz. sex.)('su.li)], [(am.pe.)(ror.'gur)], [be.(go:. narm.)('bas.ti)] and [kiv.(la. mu:.)(‘ror.ges)].




Weight-sensitive, left-edged stress with heavy codas, primary
stressonly: [(HL)-[(LH)-[(HH)-[(LL)

m (1.S0) m (a.vii)la m (birser)su.li

m (kawla) m (bon.du.)le m (am.pe.)ro.gu:

m (pu.lizm) m (saw.vau)lon m (a.ten.)do.run

m (tam.ba) m (ir.gu.)des m (be.go:.)naim.bas.ti
m (em.bek) m (o.'wek.)tu m (kiv.la.)mu:ro:.ges

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.




Weight-sensitive, left-edged stress with heavy codas, rhythmic:
[(HL)-[(LH)-[(HH)-[(LL)

m (i.s0) m (a.vii)la m (bi.se:rn)(su.li)

m (kawla) m (bon.du.)le m (‘am.pe.)(ro:.gu:)

m (pu.lizm) m (‘saw.vau)lon m (a.ten.)(do.run)

m (tam.ba) m (ir.gu.)des m (be.go:)(naim.bas.)ti
m (em.bek) m (on.'wek.)tu m (kiv.la.)( mu:.roi)ges

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress.



Weight-sensitive, left-oriented stress with heavy codas, primary
stressonly:[o(HL)-[o(LH)-[o(HH)-[o(LL)

B i.SO m a.(vi.la) m bi.(se.su.)li

m kaula: m bon.(du.le) m am.(pe.ro:.)gu:

B pu.lim m sau.(vai.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.(go:. naim.)bas.ti
m em.bek m 0.(wek.tu) m Kiv.(la.mu:.)ro:ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.




Weight-sensitive, left-oriented stress with heavy codas, rhythmic:
[c(HL) -[o(LH) -[o(HH)-[o(LL)

B i.SO m a.(vi.la) m bi.(se.su.)li

m kaula: m bon.(du.le) m am.(pe.ro:.)gu:

B pu.lim m sau.(vai.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.(go:. naim.)(bas. i)
m em.bek m o.(wek.tu) m kiv.(la.mu:.)( ro:.ges)

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [be.(go:.'na:rm.)(,bas.ti)] and [kiv.('la.muz.)(ro:. ges)].



Weight-sensitive, right-oriented stress with heavy codas, primary
stressonly:(HL)o]-(LH)o]- (HH) o] - (LL) o]

m I.SO ]
m kaula: ]
B pu.lim 0
m tam.ba: N
m em.bek M

(
(
(
(
(

a.vii.)la
bon.du.)le:
saxva:.)lon
ir.gu.)des
o:. ' wek.)tu

bir.('sexsu.)li
m.('pe.ro:.)gu:

a.(ten.do.)run

be.go:.(naim. bas.)ti
Kiv.la.('mu:.ro:.)ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.



Weight-sensitive, right-oriented stress with heavy codas,
rhythmic: (HL)o]:-(LH)o]l-(HH)o]-(LL) o]

B i.SO m (a.vii)la m bi.(se.su.)li

m kaula: m (bon.du.)le: m am.(pe.ro:.)gu:

B pu.lim m (sa.vau)lon m a.(ten.do.)run

m tam.ba: m (ir.gu.)des m (be.go:)(naim. bas.)ti
m em.bek m (on.'wek.)tu m (kiv.la.)(mu:.roi)ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress.




Weight-sensitive, right-edged stress with heavy codas, primary
stressonly: (HL)]-(LH)]- (HH)] - (LL)]

m (i.s0) m a.(vi.la) m bi.se:(su.li)

m (kawla) m bon.(du.le) m am.pe.(ro:.gu:)

m (pu.lizm) m sa.(vaw'lon) m a.ten.(do.run)

m (tam.ba) m ir.(gu.des) m be.goi.naim.(bas.ti)
m (em.bek) m o.(wek.tu) m kiv.la.mu:.(ro:. ges)

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.




Weight-sensitive, right-edged stress with heavy codas, rhythmic:
(HL)]-(LH)]- (HH)] - (L L)]

m (i.s0) m a.(vi.la) m (bi.sen)(su.li)

m (kawla) m bon.(du.le:) m (am.pe.)(ro.gu:)

m (pu.lizm) m sa.(va:slon) m (a.ten.)(do.run)

m (tam.ba) m ir.(gu.des) m be.(gor.naim.)(bas.ti)
m (em.bek) m o.(wek.tu) m kiv.(la. mu:.)(ro:. ges)

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [be.(go:. na:m.)(‘bas.ti)].




Weight-sensitive, left-edged stress with heavy long vowels and
codas, primary stress only: [(HL) - [(LH) - [(HH) - [(L L)

m (i.s0) m (a.vi)la m (bi.sew)su.li

m (kawla) m (bon.du.)le: m (am.pe.)ro.gu:

m (pu.lizm) m (saw.vau)lon m (a.ten.)do.run

m (tam.ba) m (ir.gu.)des m (be.go:)naim.bas.ti
m (em.bek) m (onwek.)tu m (kiv.la.)mu:..ro:.ges

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.




Weight-sensitive, left-edged stress with heavy long vowels and
codas, rhythmic: [(HL) - [(LH) - [(HH) - [(LL)

m (i.s0) m (a.vi.)la m (bi.se:rn)(su.li)

m (kawla) m (bon.du.)le m (‘am.pe.)(ro:.gu:)

m (pu.lizm) m (‘saw.vau)lon m (a.ten.)(do.run)

m (tam.bar) m (ir.gu.)des m (be.go:)(naim. bas.)ti
m (em.bek) m (onwek.)tu m (kiv.la.)( mu:.roi)ges

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [(be.'go:.)(narm.bas.)ti].




Weight-sensitive, left-oriented stress with heavy long vowels and
codas, primary stressonly: [c(HL)-[o(LH)-[c(HH)-[o(LL)

B i.SO m a.(vi.la) m bi.(se.su.)li

m kaula: m bon.(du.le:) m am.(pe.ro:.)gu:

B pu.lim m sa:.(va.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.('gor.naim.)bas.ti
m em.bek m 0.(wek.tu) m Kkiv.(la. mu:.)ro:ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.




Weight-sensitive, left-oriented stress with heavy long vowels and
codas, rhythmic:[c(HL) - [o(LH)-[co(HH)-[o(LL)

B i.SO m a.(vi.la) m bi.(se.su.)li

m kaula: m bon.(du.le:) m am.(pe.ro:.)gu:

B pu.lim m sa:.(va.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.('gor.naim.)(bas.ti)
m em.bek m o.(wek.tu) m  kiv.(la. mu:.)(ro:. ges)

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [kiv.(la.'muz.)(;ro:.ges)].




Weight-sensitive, right-oriented stress with heavy long vowels and
codas, primary stressonly: (HL)o]-(LH)o]-(HH) o] - (LL) o]

B i.SO m (a.vi)la m bi.(se.su.)li

m kaula: m (bon.du.)le: m am.(pe.ro:.)gu:

B pu.lim m (sau.vau.)lon m a.(ten.do.)run

m tam.ba: m (ir.gu.)des m be.go:.(naim. bas.)ii
m em.bek m (on'wek.)tu m Kkiv.la.(mu:.'ro:)ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.



Weight-sensitive, right-oriented stress with heavy long vowels
and codas, rhythmic: (HL)o]-(LH)o]- (HH) o] - (LL) o]

m I.SO ]
m kaula: ]
B pu.lim 0
m tam.ba: N
m em.bek M

bir.('sexsu.)li

am.(pe. ro:.)gu:
a.(ten.do.)run

(be. go:.)(naim. bas.)ii
(kiv. la.)(mu:. ro:.)ges

When words do not have three syllables, they do not necessarily have a footed stress window for this type of
system. You may opt to stress these words, anyway, treating the two syllables as a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,

resulting in [( kiv.la)(muz.ro:.)ges].



Weight-sensitive, right-edged stress with heavy long vowels and
codas, primary stress only: (HL)] - (L H)] - (H H)] - (L L)]

m (i.s0) m a.(vi.la) m bi.se:(su.li)

m (kai'la) m bon.(du.le:) B am.pe.(ro:. gu:)

m (pu.lizm) m sa.(va:slon) m a.ten.(do.run)

m (tam.ba) m ir.(gu.des) m be.goi.naim.(bas.ti)
m (em.bek) m o.(wek.tu) m Kiv.la.mu:.(ro:. ges)

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.




Weight-sensitive, right-edged stress with heavy long vowels and
codas, rhythmic: (H L)] - (L H)] - (H H)] - (L L)]

m (i.s0) m a.(vi.la) m (bi.sen)(su.li)

m (kai'la) m bon.(du.le:) m (am.pe.)(ro:. gu:)

m (pu.lizm) m sa.(va:slon) m (a.ten.)(do.run)

m (tam.ba) m ir.(gu.des) m be.(gor.naim.)(bas.ti)
m (em.bek) m o.(wek.tu) m kiv.(la. mu:.)(ro:. ges)

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [(biz. ser.)('su.li)], [(am.pe.)(ror.'gur)], and [be.(go:.,naim)('bas.ti)].



Weight-sensitive, left-edged stress based on other features,
primary stressonly: [(HL) - [(LH) - [(HH) - [(LL)

m (i.s0) m (a.vii)la m (Dbi.se:)su.li

m (kaulay) m (bon.du.)le m (am.pe.)ro.gu:

m (pu.liim) m (samvau)lon m (a.ten.)do.run

m (tam.ba) m (ir.gu.)des m (be.go:.)naim.bas.ti
m (em.bek) m (orwek.)tu m (kiv.la.)mu:ro:.ges

For these examples, | selected the back vowels [u] and [a] to be heavy. Selecting different features would change
where the stress falls in these examples.

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.




Weight-sensitive, left-edged stress based on other features,
rhythmic: [(HL) - [(LH) - [(HH) - [(LL)

C bir.se:.)( su.li)

am.pe.)( ro.gu:)
a.ten.)( do.run)

be.go:.)( naim.bas.)ti

( ( (
( ( (
= (pu.lim) m (sa.vau)lon m
( (ir. (
( ( (

‘em.bek) m (onwek.)tu m (kiv.la.)(mu:. ro:)ges

For these examples, | selected the back vowels [u] and [a] to be heavy. Selecting different features would change
where the stress falls in these examples.

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [(‘a.ten.)(do. run)] and [(kiv.'la.)(,mu:.ro1.)ges].



Weight-sensitive, left-oriented stress based on other features,
primary stressonly: [c(HL) - [o(LH)-[co(HH)-[o(LL)

B i.SO m a.(vi.la) m bi.(sew su.)li

m kaula: m bon.(du.le) m am.(pe.ro:.)gu:

B pu.lim m sa:.(va.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.(go:. naim.)bas.ti
m em.bek m o.(wek.tu) m Kiv.(la.mu:.)ro:ges

For these examples, | selected the back vowels [u] and [a] to be heavy. Selecting different features would change
where the stress falls in these examples. When words do not have three syllables, they do not necessarily have a
footed stress window for this type of system. You may opt to stress these words, anyway, treating the two syllables as
a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.




Weight-sensitive, left-oriented stress based on other features,
rhythmic:[o(HL) - [o(LH)-[c(HH)-[o (L L)

B i.SO m a.(vi.la) m bi.(sew su.)li

m kaula: m bon.(du.le) m am.(pe.ro:.)gu:

B pu.lim m sa:.(va.lon) m a.(ten.do.)run

m tam.ba: m ir.(gu.des) m be.(go:. naim.)(bas. i)
m em.bek m o.(wek.tu) m kiv.(la.mu:.)( ro:.ges)

For these examples, | selected the back vowels [u] and [a] to be heavy. Selecting different features would change
where the stress falls in these examples. When words do not have three syllables, they do not necessarily have a
footed stress window for this type of system. You may opt to stress these words, anyway, treating the two syllables as
a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the leftmost syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,

resulting in [be.(go:.'narm.)(,bas.ti)]. .




Weight-sensitive, right-oriented stress based on other features,
primary stressonly: (HL)o]-(LH)o]- (HH) o] - (LL) o]

B i.SO m (a.vii)la m bi.(sew su.)li

m kaula: m (bon.du.)le: m am.(pe.ro:.)gu:

B pu.lim m (sa:va.)lon m a.(ten.do.)run

m tam.ba: m (ir.gu.)des m be.go:.(naim. bas.)ii
m em.bek m (onwek.)tu m kiv.la.(mu:ro:)ges

For these examples, | selected the back vowels [u] and [a] to be heavy. Selecting different features would change
where the stress falls in these examples. When words do not have three syllables, they do not necessarily have a
footed stress window for this type of system. You may opt to stress these words, anyway, treating the two syllables as
a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.



Weight-sensitive, right-oriented stress based on other features,
rhythmic: (HL)o]:-(LH)o]l-(HH)o]-(LL) o]

B i.SO m (a.vii)la m bi.(sew su.)li

m kaula: m (bon.du.)le: m am.(pe.ro:.)gu:

B pu.lim m (sa:va.)lon m a.(ten.do.)run

m tam.ba: m (ir.gu.)des m (be.go:)(naim. bas.)ti
m em.bek m (onwek.)tu m (kiv.la.)(mu:.roi)ges

For these examples, | selected the back vowels [u] and [a] to be heavy. Selecting different features would change
where the stress falls in these examples. When words do not have three syllables, they do not necessarily have a
footed stress window for this type of system. You may opt to stress these words, anyway, treating the two syllables as
a stress window, as in ['i.s0].

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,

resulting in [(kiv. |a.)('muz.ror.)ges]. .



Weight-sensitive, right-edged stress based on other features,
primary stressonly: (HL)] - (LH)]- (HH)] - (LL)]

m (i.s0) m a.(vi.la) m bi.se:(su.li)

m (kai'la) m bon.(du.le) B am.pe.(ro:. gu:)

m (pu.liim) m sa.(va.lon) m a.ten.(do.run)

m (tam.ba) m ir.(gu.des) m be.goi.naim.(bas.ti)
m (em.bek) m O.(wek.tu) m  Kivla.mu:.(ro:.ges)

For these examples, | selected the back vowels [u] and [a] to be heavy. Selecting different features would change
where the stress falls in these examples.

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.




Weight-sensitive, right-edged stress based on other features,
rhythmic: (HL)] - (L H)] - (HH)] - (L L)]

m (i.s0) m a.(vi.la) m (bi.sen)(su.li)

m (kai'la) m bon.(du.le) m (am.pe.)(ro:. gu:)

m (pu.liim) m sa.(va.lon) m (a.ten.)(do.run)

m (tam.ba) m ir.(gu.des) m be.(gor.naim.)(bas.ti)
m (em.bek) m O:.(wek.tu) m Kkiv.(la.mu:.)(ro.ges)

For these examples, | selected the back vowels [u] and [a] to be heavy. Selecting different features would change
where the stress falls in these examples.

If the footed syllable contains one heavy and one light syllable, stress is assigned to the heavy syllable. However,
when there are two heavy or two light syllables in the foot, you must decide how to assign stress in that foot. In some
natlang systems similar to this one, the rightmost heavy syllable is stressed while the leftmost light syllable is stressed.

I've assigned secondary stress by stressing every other syllable, radiating out from the primary stress, but some
languages assign secondary stress based on weight-sensitive features, in the same way they assign primary stress,
resulting in [(am.pe.)(roz.'gur)], [(,a.ten.)(do.run)], [be.(go:. na:m.)(‘bas.ti)], and [Kkiv.(la. mu:)('ror.ges)].




LEXICAL STRESS
DECISIONS

regarding rhythm




Lexical stress: Do you want secondary stress?

N . After assigning primary stress, secondary stress is placed on every other syllable,
radiating outward from the syllable with primary stress.

N : No matter the length of the word, only primary stress is assigned.




LEXICAL STRESS
RESULTS

Demonstration of potential lexical stress options using the 15 example
words




Lexical stress: Primary stress only

m i.SO m a.vi.la m bi. sew.su.li

m kavla m bon.du.le: B am.pe.ro.gu:

m pu.lim m sa:.va:.lon m a.ten.do.run

m tam.ba: m irgu.des m Dbe.go.naim.bas.ti
m em.bek m 0. wek.tu m Kiv.la. mu.ro.ges

Stress can go anywhere on words; as an example, | have selected syllables at random to receive primary stress.




Lexical stress: Primary and secondary stress

m I.SO m avila m bi.sensu.li

m kaula: m bon.du.le: m am.pe.ro.gu:

m pu.lim m sa:.va:.lon m a.ten.do.run

m tam. ba: m ir.gu.des m be.go:. naim.bas. ti
m em.bek m 0. wek.tu m Kkiv.la. mu:.ro:. ges

Stress can go anywhere on words; as an example, | have selected syllables at random to receive primary stress. |
assigned secondary stress that radiates out from the primary stress, but secondary stress could also be lexically
determined, resulting in stress patterns like ['be.go:.naim. bas.ti].




